Exercises

In Exercises 1-48, find the derivative of each function.
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In Exercises 49-54, find . and — o

49, y =" and u = 3x* -1

50. y = Vuandu = Tx — 20
51.y=u_2/3andu=2x3—x+l
52, y=2u2+1andu=x2+1

1
53.y=\/ﬂ+ﬁandu=x3—x

1
54, y=—andu= Vx +1
U

55, If g(x) = f(2x + 1), what is g'(x)?
56. If h(x) = f(—x"), what is ' (x)?

57. Suppose F(x) = g(f(x)) and f(2) = 3,£'(2) = =3,
g(3) = 5,and g'(3) = 4. Find F'(2).

58. Suppose h = fo g. Find 1'(0) given that f(0) = 6
£'(5) = =2,9(0) =5, and g'(0) = 3.

59, Suppose F(x) = f(x* + 1). Find F'(1) if f'(2) =

60. Let F(x) = f(f(x). Does it follow that F'(x) = [f'(0)]?
Hint: Let f(x) = x*



